


\\2012ess\RWBC\Clients\Cal-Royal NEWATexas Dept of Ins\TDI - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 4.2

35.75" MAX
PANEL WIDTH

STEEL SKIN \

—
T

O

LL

T

= I
LL

D

<C

o 4
>

< .

2 %

g P~

o

3

39.56"

31.94"

31.94

9.62"

@ CAL-ROYAL DOOR PANEL

STEEL DOCR SKIN (18 GA.): MIN. 0.045" THK.

STEEL GRADE: ASTM A1008 GALYV. STEEL (Fy = 33,000 PSI MIN.)
CORE MATERIAL: EPS FOAM {POLYSTYRENE - 1.0 PCF MIN. DENSITY)

161 Lock prep shown

Mortise Lock prep similar

/"1 "\ HORIZONTAL CROSS SECTION

FOAM CORE

STEEL SKIN

\2/
R
o
[e]
= 35.5"
N
@ DOOR TOP CHANNEL =12 72 e 1" b
]
. \\\\\Y/;\\
240 I—wawmmm—4J¢t-*———~—*j
in
m} d . :
|
] =
2 + ) =
L—J} Q’ v
5 ) STEEL LOCK BOX REINFORCEMENT 3 ﬂgﬁ; el?fci ng RE:NFORCEMENT
161 Lock prep only prep only
- 34.25" -
_ . 65 %{) . i
Y @ DOOR BOTTOM CHANNEL L
S 1.2" =

Lyndan F. Schmidt, P.E.
TEXAS P.E. #104123

B813.6508.9197

2

F o gh e

E

R B %

1. 1 1

3 6

\} 1. ) )
6

3

7 2"\ VERTICAL CROSS SECTION

P.O. Box 230 Vvalrica FL 33595

BUILDING CONSULTANTS, INC.

Documents Prepared By
rVI/th:me No.:

TEXAS BOARQO OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—1t852

CAL~ROYAL
STEEL COMMERCIAL DOOR

PART OR ASSEMBLY:
DOOR PANEL DETAILS

PRODUCT:

REVISIONS

NOI DATE

pate: 10/1/14

scate: N T.S.

\2/

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4484

SHEET 2 oF 8

© 2014 R.W. BUILDING CONSULTANTS INC.



\\2012ess\RWBQ\Clients\Cal-Royal NEW\Texas Dept of Ins\TDE - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 4.3

P

EXTERIOR

INTERIOR

SEE NOTE 1

NOTE:

.
o

. PANIC BAR SET SCREWS (#12-24 x 5/16")
MUST BE ACTIVATED TO ACHIEVE IMPACT
RATING. LOCATE ONE SCREW AT TOP
AND BOTTOM AT CENTER OF PUSH RAIL
OR LOCATE ONE SCREW AT EACH END OF BAR.

INTERIOR

J

e

EXTERIOR

7“1\ HORIZONTAL CROSS SECTION
w Cutswing configuration - Inswing also approved

/0—'-:}/

7”3\ HORIZONTAL CROSS SECTION

ui
e
JV"‘
23
Ex o
£ b
[T "
0l %
“ 0 ~
w II.|°’
:g g
[«] 0 "
° oo
[= En
x> 0@
>n
-
gm
o
w
]
o
Q
o

BUILDING CONSULTANTS, INC.

Documents Prepared By:
WPhona No.;
TEXAS BOARD COF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION § F—11852

w Masonry Construction

Masonry 'Tee" Anchor

EXTERIOR

2
1
MORTAR REMOVED S g
FOR CLARITY 22|
g E &
ey &
r2 e ©
a=|=
< O || =
SO | X
.._1 [‘Q %
Bl o N
35 = 10| &
fat Ol | S
o | I
o <<
a [}
CAULK (TYP.) %
%ﬁ S DRYWALL
B AR 3
=
f 5
[72]
=
[UN} |
(8.4
L)
k
]
. “"’“‘:‘“““f“‘“ 3 . C)‘
— /. ;
pate: 10/1/14
EXT. SHEATHING | —— s
DWG. BY: JK
CHK. BY: LFS
/"2 "\ HORIIONTAL CROSS SECTION SRAING 5
3 / 2XStud Construction TX—4484

wWood Stud Anchor

SHEET 3 ofF 8

© 2014 R.W. BUILDING CONSULTANTE INC.



"ON| BANYLIASNOD a@NIaUine "MA'Y L 0Z )]

ZSELL—4 § NOUVMISIONN 40 ILvOLILNID SNOISIAZY i
SHIINIONI TWNOISSIJONd 40 GY¥YOR Svx3al SNOILOIS SSOYD TWILNIA AH JIVd ION ¥ sl ,_“_o. < 8_
LEL6'669'CLE "ON BUOYY _ A2y o,
GBECE 14 OSWIBA OFZ X0B ‘O'd \u\w@. ‘ATEN3SSY 80 1dvd ﬂm P I3
“ONI 'SINYIINSNOD SNIOING ¥OOd TYIONIAWOD T133IS o B =z v.A A_._
o 1
—e TWAOH-TYD R blg = .
cZIvoLd "Ia sl - Widig)yl|2 ]
“3'd "IPIMYDS "4 Uopui 1Ag peJodeld ejUSLLNI0G 19N00Md =18 W W m s
Ar-gy
o}
©
>
o
&
. -4 LB MW.
. 2
PO - o =4
N e 2|2 Q
4 Oz i =
| = 2 ped o]
A = oe O - —
PR @] W~ O
4 h oz “o W
4 o = D =
= Qio " |O
- _ &> Qf3
a O m o m
.Vv. md | (3 C m
S < o -5
R 4 all.m c Lo
-m .M m =
A N . w|s > m
. A N >0 wio
A a JiN b V O
S N >
A | . : N
N ; -4
o
[+°4
=
>
L

EXTERIOR

Q
& [
.V. N v—
g
4 N ‘\AHV o
Y o)
; = oe
4 e W o
1 @] (o] or
oA ® o o] =
o (18] L] rd
A * A = T P
4 & - Nm m
. Qfz =
=1 Ly
4 ~I1c 8]
" K 4
n BE o “l5 |5
) = e
_ ah E I
) N / o] = nnﬁuw
.b... e Rn..muhu Cg
- LA Cn =
. D o |
N a ] 15 Aw
N > Lo Olo
b : Qlc 1=
asn
4 ~ =iz oS
S e | | gz
X > O 3
4
o)<
@) O ;
5 =
(18] (SN)

'y ‘BMPPTOZ SY)ALusund\sBuimesgyemauay z4p - JQL\SU] JO 1030 seX31\WMIN 12A0Y-[EO\AUBID\DEMUNSSIZTOZ\



2X FRAMING TO BE DESIGNED BY THE ENGINEER OR ui
ARCHITECT OF RECORD BASED ON WIND LOADS "‘E
AND THE CLADDING BEING USED. g3 2 o
Ex a W v}
I £+ g g¢
— = ™ _‘;/ 2X FRAMING 8y gg g"-
e DOOR K B8 Ca
. ] 3 3 - =
R FRAME\\ _Sé ggg gg
e N 5" HZI8 &E
e : ‘ 202 B¢
o T - y 2.5 BF
FRAME : _ N & o t: 3 EE
- > ||l y 1] > ? 28 5 u
1 5 3§58 o
. . JAMBS e 32% 47
s JAMBS © £ ®=oz g%
o v {TYP.) o § ag
(TYP.} H f
— (2) PER STRAP s E X ég
@ m (EACH FACE} @ 0 ]
2 JAMBS = 2y 2 2 & a
£ E: B < Z S
= L (TYP.) - = Ly T
o L) O o~ o ¥
: < Z < .
MASONRY | | T 5 - MASONRY "TEE" ANCHOR LOCATIONS {5} TOTAL PER JAMB S
OPENING | {JOINTS MEASURED FROM BOTTOM) o S
- S PR ] & l ;(‘" E
e |, 2
Ao b
g el SILL 5 % SILL % 2 |1g=
P (Yp.) LT T (TYP) o 33 |4l ¢
A = <t a =<
L Y .. —~ b
R 9th JOINT 9th JOINT ST -
r = —_ — 8 al & |
N " ; { i ¥ £
. el . - .”_'w' 1‘5-.‘_’.‘ 1.‘ f.."_. vh '-“
AR N N T >_
= |et— & ~r ee— &"
@i 8 (E 6 7th JOINT 7th JOINT o
FRAME ANCHORING FRAME ANCHORING
Masonry Consfruction 72X Stud Consfruction J 6th JOINT
Concrete Anchors Strap Anchors 2 JAMBS 2
5th JOINT < {TYP.) < )
5 -3 =z
L g &)
g 2 %
T < s
CONCRETE ANCHOR NOTES: |

1. Substitution of equal concrete screws from a different supplier may have different edge distance and
center distance requirements. 3rd JOINT 3rd JOINT

2, Concrefe screw locations af the comers may be adjusted to maintain the minimum edge distance fo
mortar joints, If cancrete screw locations nofed as "MAX. ON CENTER" must be adjusted to maintain the SILL
minimum edge distance to mortar joints, additional concrete screws may be required to ensure the {TYP.}
maximurn on center dimension is nof exceeded.

3. Concrete anchor table: M
e ———— . — e 15t JOINT Tst JOINT e
ANCHOR | ANCHC p

EMBEDMENT - L. ! o
N .; ‘ :.‘ l":."-\I ¥ =
R PR SRR AT 4_‘ o DATE: 10/1/14
CE scalE:  N.T.S.
---------------- FRAME ANCHORING ow. BY:_ JK
] ] Masonry Consfrucfion cHk. B:  LFS
2:1/4 4-1/2 Masonry 'Tee" Anchors DRAWING NO.:
Lo TX—4484
4. Embedment may be through 1-1/4" face shell of hollow block. suEET 5 oF 8

\\2012ess\RWBC\Clients\Cal-Royal NEWATexas Dept of Ins\TDI - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 4.5

© 2014 R.W. BUILDING CONSULTANTS INC.



"ON| BANYLINENOD BNIQNE ‘MM tLOZ @

ZSELi=—2 # NOLVALSION 40 ALVOLILN3D SIVIIg SNOISIAZY :
SHIANIONI TYNOISSIIONd 40 Q¥VOE SYXAL ININOHONY WY A8 31¥G |ON il ol « 8_
LBLB'BRE°CLE BN SuUoyd : : I
GBSET 14 OOMOA OCZ X0 O3 \5@% TKTENISSY H0 1avd N m &
"ON) 'SINYLINSNOD SNIdNNGS W = 2 3 6_
HOOA WIDHIWWOD 1331S ~— ElEle &
SZiv0L# “I'd SVXEL WAOY—"IVO wlde|el® L
‘I'd “IPIWIYos ‘4 uopui :Ag peJodeug sjuewnooq 119NaoHd M Q W 5 m W._
\\.T\l\ 14
A=
, _ =i
- oy | 35 N/ & 5
. < [0 n Q
J_ . © s ) . ...._J._ AZ) T E F = m
= x [ Vo
= |0 N S
:@_. :Nﬂ Bl :.VN -nl\lv
5 —= |t @
=
=
3 k| Q
0
. — 0 (=]
:O mq d T d
. on d} O
_.AII.II__NS oy ——im = % Ol o
< - =X e \ ala
{ ° 3 [ [ ™ o = <L
= | P w|
| as| O QL
(- :@m I :Nﬂ - :VN (7Y m “ m
— 3
o 2O e Sle 2| _
- g < | H [@]
1 -0 -~
[ . » ° a g |— Qo
= 3 | — x|~
R o S /> AN = 2|0
2 3
p —— RS-
[ A ———— S0
T4 | 1= =K =7 S
...h_ ) [ . ° ™ m H O
_ a2 Al
o | Q
T._ﬁ —t= ZE KT SIS GlE
O
=i
91 ¥z - g =
R N - 5
=7 = Ly
H o [ . ] IAJ G
- L) o w =
k| Paadl Fad m =
. —— ZE - x
JS8E°01 -

gt 'BMPETOZ SYXILaLND\sBumeIq\EMaUSY 2/ - IA1\SUT §0 103 SEXa1\MIN [BAOH-[ED\SIUBID\IBMHNSSIZTOZA



W2012ess\RWBO\Clients\Cal-Royal NEWATexas Dept of Ins\TDI - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 4.7

575" #%“'—1

2 HOLLOW METAL FRAME

2'HEAD

0.1¢"

5"

. THRESHOLD
Pemko 156

;:-l I—- 0.63"

136" =]
0.06" —={f=—

|

r
L =

i Q
3 [ <
oF | 13
\
— ] 'I.'l" ——
30 DOOR LATCH REINFORCEMENT

Mortise Lock only

—
—e{l=— 0.056" i
TR
‘ o™
- 1.56" e 225 ] 3
{on )

0.056" —=

5.75"

0.24"7 ’:?TO'BS r
y
No. 6 x 5/8" T o~
No.dxsgr  PPHSMS@é€oc || .
PPHSMS @ &' o.C.
-] |a— (,13"

WEATHERSTRIP
Pemko 303A . DOOR SWEEP
Pemko 3151

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

- (0,5

e 156" e 225" ]

2 HOLLOW METAL FRAME
4"HEAD

el 125" fee—
0.62 —=  |=— e
| T
T 2 //l
le¥e |
4| &
2= @ o

it

KK
R

AT

22 DOOR HINGE REINFORCEMENT

]

3
=r
Yau' i
|_S 1@
[
:E |—~l.26“—-‘ L 1 5
O
.mnssnom
Pemko 2001P
o
2 0.32" —=
. 0.64" —=]
Q 096" i* -
- |
92)_PANIC BAR LATCH STRIKE PLATE Iy
@ Jamb b S
I
o]
0.04" —= - " . Tl &
) ﬁ 0.89 ty ol o
)
-1— Mwei 3 6C)e
[ & ©
3 B 3
Vol o
& o
l o
= ;] |
1 > 1
~0
J t o |8
T T 1.28"*—!--————-’-}

|

~=— 0.63"

—o] fe—0.14"

8.4
4.7

@ FRAME LATCH STRIKE REINFORCEMENT

@ FRAME HINGE REINFORCEMENT

BUILDING CONSULTANTS, iNC.
P.0. Box 230 Valrico FL. 33585

Documents Prepared By:
WPhone No.:
TEXAS BOARD OF PROFESSIOMAL ENGINEERS

CERTIFICATE OF REGISTRATION § F-11852

[0
]
o
]
o2 2
52 [y &
&Y |5 S
| o a.
— = =2 =
< ulf 3
Q0O nl o
!
..,j'(
= @
g'rEo
%2
o —
(=] o
o <
o o
>_
m
172}
=z
o
2]
=
]
0
L
<
[
Lo
=

oate: 10/1/14

SCALE:  NLT.S.

DWE. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4484

SHEET /7 ofF 8

© 2014 R.W. BUILDING CONSULTANTS INC.



\W2012ess\RWBC\Clients\Cal-Royal NEW\Texas Dept of Ins\TDI - 472 Renewal\Drawings\Current\TEXAS 2014.dwg, 4.8

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL

B |2 X4 FRAMING (3G >= 0.55) WOOD
C [174"MAX. SHIM SPACE -

D | 1/4"X 2-3/4" PFH ELCO OR [TW CONCRETE SCREW STEEL

£ | MASONRY - 3,000 PST MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F [ 3/8" PFH TW DYNABOLT SLEEVE ANCHOR STEEL

G | WOOD STRAP ANCHOR STEEL

H | #8X1-1/2" PH WOOD SCREW STEEL

J | MASONRY “TEE* ANCHOR STEEL

1| CAL-ROYAL DOOR PANEL -

4 | DOOR TOP CHANNEL STEEL

5 | LOCK BOX REINFORCEMENT STEEL

& | CLOSER REINFORCEMENT [171 gauge] STEEL

7 | DOOR BOTTOM CHANNEL STEEL

8 | WEATHERSTRIP - PEMKO 303A NEOPRENE
9 | TUBE ANCHOR STEEL

10 [#12-24 X 1" COMBINATION MACHINE / WOOD SCREW STEEL

17| DOOR SWEEP- PEMKO 315) PVC

13 | WEATHERSTRIP - COMPRESSION BULB 1/4" X 1/2" [PEMKO 588) NEOPRENE
15 | #8-24 X 3/4" COMBINATION MACHINE / WOOD SCREW STEEL

16 | ANSI LATCH STRIKE STEEL

17 | DEAD BOLT STRIKE STEEL
20 | #12-24 X 172" PFH MACHINE SCREW STEEL

20 | 4-1/2"X 4-1/2° X 0.125 TEMPLATE HINGE STEEL
22 | DOOR HINGE REINFORCEMENT STEEL
25 | HOLLOW FRAME 2" STEEL
26 | HOLLOW FRAME 4" HEAD STEEL
27 | FRAME LATCH STRIKE REINFORCEMENT STEEL
28 | FRAME HINGE REINFORCEMENT STEEL
30 | FRAME LATCH STRIKE REINFORCEMENT [MORTISE LOCK)] STEEL
40 | INSWING THRESHOLD - PEMKO 156 ALUM
42 | OUTSWING THRESHOLD - PEMKO 2001P ALUM
70 | CAL-ROYAL M SERIES MORTISE LOCK -

71 | CAL-ROYAL T300 SERIES DEADBOLT -
72 | CAL-ROYAL PIONEER SL/CSL SERIES CYLINDRICAL LOCK -

73 | CAL-ROYAL GENESYS SERIES CYLINDRICAL LOCK -
74 | CAL-ROYAL 7700 SERIES PANIC BAR .
92 | PANIC BAR LATCH STRIKE PLATE STEEL

5.5

= 1,75" —=

1" DIA. HOLE

/

\

+

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

1

r=—1.5" -~

== s BB

8.125"

—==—0.06"

9.875"

@ MASONRY 'TEE' ANCHOR

05"~ +
.¢.
T +
<+
=
i NG
]
H’u |
T — +
N ]
o + %jg
eI
f T )t 075" —mm|
@ WOOD STRAP ANCHOR

2.6" (2' HEAD)
4.8" (4" FEAD)

1.0

— =i - (0,08"
I
~

—l 075" =
e ] '5" —

- 5.4"

( : ) TUBE ANCHOR

P.O. Box 230 Vairico FLL 33585

BUILDING CONSULTANTS, INC,
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

CAL-ROYAL
STEEL COMMERCIAL DOOR
BiLL OF MATERIALS AND

PART OR ASSEMBLY:

PRODUCT:

COMPONENTS

BY

—

REVISIONS

NO| DATE

oate: 10/1/14

sCALE:  N.T.S.

DWG, BY: JK

CHK. BY: LFS

DRAWING NO..
TX—4484

SHEET 8 ofF 8

© 2014 R.W. BUILDINDG CONSULTANTS ING.



